
UNIVERSAL GRILL MOUNT ASSEMBLY INSTRUCTIONS

SR895014   1009115R1   #1015

Align and fasten the C-CHANNEL 
to the MOUNTING ARM using two 
M6x10mm screws. Loosely attach 
both fasteners, then make sure the 
C-CHANNEL is aligned and square
to the MOUNTING ARM.  Once the
parts are aligned, fully tighten the
M6x12mm screws using the HEX
KEY provided.

STEP 1

PA
R

T
S

 L
IS

T

STEP 2

STEP 3

Align and fasten the CROSS BAR to the 
MOUNTING ARM using two M6x12mm 
screws. Loosely attach both screws, then 
make sure the CROSS BAR is aligned 
and square to the MOUNTING ARM. 
Once the parts are aligned, fully tighten 
the M6x12mm screws using the HEX 
KEY provided. The countersunk holes will 
help align and center the CROSS BAR.

Align and fasten the middle RUBBER 
BUMPER to the CROSS BAR using the 
one M6x20mm screw. Once the parts are 
aligned, fully tighten screw using the HEX 
KEY provided. The countersunk hole 
will help align and center the RUBBER 
BUMPER.

Mounting Arm
QTY: 1

Mounting Arm

Mounting Arm

Cross Bar
w/ Attached Bumpers

QTY: 1

Cross Bar

C-Channel
QTY: 1

C-Channel

C-Channel
Orientation

4mm Hex Key
QTY: 1

Scale 1:1 Scale 1:1

M6 x 12mm Screw

M6 x 12mm Screw
QTY: 4

M6 x 12mm
Screw

M6 x 20mm Screw
QTY: 1

M6 x 20mm Screw

Rubber Bumper
QTY: 1

Rubber Bumper

121 Landmark Drive, Greensboro, NC  27409 / 1.800.334.2004 / www.camco.net

Item name: Universial Grill Mount Instructions
Drawing#: 1009115R1
Colors: 1/0 Black only
Coating: NA
Size: 8.5 x 11"
Die cut: no
Stock:20 lb bond
UPC: NA
Notes: SR895014
Rev #: 1
Date Released: 1015

PRINTING INFORMATION
(Do not Print) 印刷资料 （不打印）

No intentional introduction of Lead (Pb), Cadmium (Cd), Hexavalent 
Chrome and Mercury (Hg) allowed in manufacture of this packaging 
material. The sum of the concentration levels incidentally introduced 
not to exceed 100 PPM by weight.


